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5-65.
Determine whether 447 is a term of each sequence below. If so, which term is it? Homework Help %

a.t(n) =5n—3 b.t(n) = 24— 5n

c.tfn) = —6+3(n—1) dt(n) =14 3n

et(n) = —8—T(n—1)
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5-67.
Find the sequence generator for each sequence listed below. Write an equation for the 7" term in each sequence below, keeping in mind that the first
term of each sequence is ¢(1). Homework Help %

2.4,7,10,13,.. b.3,8,13,..

€.24,19,14,... d.7,95,12,...
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5-69.
Solve the system below for m and b. Homework Help %
1239 = 94m + b
810 = 61lm + b

5-70.

Write an equation or system of equations and then solve the problem below.

The French club sold rose bouquets and chocolate hearts for Valentine’s Day. The roses sold for $5 and the hearts sold for $3. The number of bouquets
sold was 15 more than the number of hearts sold. If the club collected a total of $339, how many of each gift was sold? Homework Help %
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